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OBO+L(OIZ) X2
1,318,081,000& *1 1,318,081
= 922,657
Al 395,424
=2 (X S) X= 544,641 438,460 106, 181
= 381,249
Al 163,392
301 EtE N = 544,641 438,460 106, 181
= 381,249
Al 163,392
01 Al EE A S (2 RDEXMA) 544,641 438,460 106, 181
OB+ (X2 SIXIS
544,641,000& 1 544,641
= 381,249
Al 163,392
SETHEMHIA HBIRH X~ 684,000 561,600 122,400
= 478,800
Al 205,200
307 elztol & 684,000 561,600 122,400
= 478,800
Al 205,200
1 AMEISXAIEEXS 684,000 561,600 122,400
OZ0ots EEME MBIA HIRX
684,000,000& *1 684,000
= 478,800
Al 205,200
LEH F2aE X2 11,451 11,314 137
= 8,016
Al 3,435
307 elztol & 11,451 11,314 137
= 8,016
Al 3,435
11 AMEISXAIEEXS 11,451 11,314 137
oIl Lo X
11,451,000& 14 11,451
= 8,016
Al 3,435




SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Zofelel=H| 199,445 50,000 149,445
= 159,556
Al 39,889
301 EtE N = 199,445 50,000 149,445
= 159,556
Al 39,889
01 Al EE A S (2 RNEXMA) 199,445 50,000 149,445
(OFSV ReIRSIE=d. | 199,445,000& 1 199,445
= 159,556
Al 39,889
HEZO0HQ SAHIS X3 A 3,000 5,000 A2,000
= 2,100
Al 900
301 LEtE NS 3,000 5,000 22,000
= 2,100
Al 900
01 Al EE A S (2 DEXMA) 3,000 5,000 /2,000
O g EatdIE XId
3,000,000& %1 3,000
= 2,100
Al 900
MNASER AN 22Hl & ZAH XIS 8,000 8,200 A200
= 4,000
Al 4,000
301 EtE NS 8,000 8,200 A200
= 4,000
Al 4,000
01 Al EE AT Z2(2REXR) 8,000 8,200 A200
OMASZEOQ ZSHMLZHl L Al X
2 8,000,000& 1= 8,000
= 4,000
Al 4,000
ol 22717 w& 18,750 15,000 3,750
= 15,000
- 3,750
301 EtE NS 18,750 15,000 3,750
= 15,000
- 3,750
01 Al EE A S (2 DEXMR) 18,750 15,000 3,750
OZ0Q BEX017 WF
18,750,000 * 1 18,750
= 15,000
- 3,750




SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol 2017 =2l N3 At 42,857 36,720 7,137
Al 30,000
- 12,857
307 el2to| & 42,857 36,720 7,137
Al 30,000
- 12,857
1 AMISXAIEEXS 42,857 36,720 7,137
OFHL! BRI+ «2lIX&H
42,857,000& *1 42,857
Al 30,000
- 12,857
ol F=HE XA 12,000 12,000 0
Al 12,000
401 Al HIZL S 0HHI 12,000 12,000 0
Al 12,000
01 Al&H| 12,000 12,000 0
OHONY EF 228 Al
12,000,000 * 1= 12,000
Al 12,000
Zoje! 2=sX3 S0 9,459, 164 8,006,894 1,452,270
= 6,621,415
Al 2,837,749
307 gl2to| & 9,450, 164 8,006,894 1,452,270
= 6,621,415
Al 2,837,749
11 ARRIS XA E X 9,459, 164 8,006,894 1,452,270
OH0N HEXH 20X/
9,459,164,000& x 13 9,459, 164
= 6,621,415
Al 2,837,749
ol 2SN FIHKE At 952,289 866,043 86,246
Al 952,289
307 212+01& 952,289 866,043 86,246
Al 952,289
1 AMISXAEEXS 952,289 866,043 86,246
O 2sXE =
952,289,000& *1 952,289
Al 952,289
SSHQ SsEX JHts0 AIF 163,467 71,593 91,874
= 114,427
Al 49,040
307 @120l & 163,467 71,593 91,874
= 114,427
Al 49,040




SA: B=EY
. ZOje =X S8
el FOfOl SXIAHIA KIg 23t (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 163,467 71,593 91,874
OSZHML Ss2X IKE0 K&
163,467,000 » 1= 163,467
= 114,427
Al 49,040
220 BU= HSAHIA 170,547 218,292 NNA47,745
= 119,383
Al 51,164
307 212+01& 170,547 218,292 AN47,745
= 119,383
Al 51,164
10 Al2IS XA EEE 22X 170,547 218,292 N7, 745
OgadH BUSESAHIA XA
170,547,000& » 1= 170,547
= 119,383
Al 51,164
JoHESAE 7 FIHAE 50,000 0 50,000
201 fer=3| 2,500 2,500
01 Al 22IH| 2,500 2,500
OFNASSA 7 FIN 248
2,500,000& 1= 2,500
307 lztol & 47,500 47,500
11 AMEISXAEEES 47,500 47,500
OHNUBENH 7 =X
47,500,000& x1& 47,500
ZoHe! SXE A28 14,000 3,500 10,500
Al 14,000
307 glztol & 14,000 3,500 10,500
Al 14,000
11 ARRIS XA E X 14,000 3,500 10,500
O S22 24|
14,000,000& * 1 14,000
Al 14,000
ZOHUIESKIEAN 22LHI S5 &HAl FIHXIR 9,744 0 9,744
= 6.821
Al 2,923
307 212+01& 9,744 0 9,744
= 6,821
Al 2,923
11 AMEISXAEEES 9,744 0 9,744
oz asXd D2LHY S5 StAIXIR
9,744,000& 1 9,744
= 6,821
Al 2,923




SA: B=EY
Mz mofel =X SA
Chel: TOjOI SXIAHIA KB 25 (12l M2
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
SOHE 0l == OHZALY 22,800 0 22,800
= 11,400
Al 11,400
401 AlZHIZ S 0HbI 22,800 0 22,800
= 11,400
Al 11,400
01 AlIZHI 22,800 0 22,800
OS01E HOHQ! & HEA
22,800,000& *1 22,800
= 11,400
Al 11,400
ZOHQ! Tr&o|gt e 8,005,434 7,824,250 181,184
= 2,158,222
Al 5,601,991
- 245,221
O HF=AE 2R 2,099,993 1,942,329 157,664
= 1,469,995
Al 629,998
307 212t01™ 2,099,993 1,942,329 157,664
= 1,469,995
Al 629,998
10 AlISIAIEEE 22X 2,099,993 1,942,329 157,664
OZ Rl HFAIE 22 (20HA) X2
2,099,993,000& 1 2,099,993
= 1,469,995
Al 629,998
0 HFAE 2 FIHA 65,431 143,349 AT7,918
Al 65,431
301 LeHEN= 20,000 100,000 80,000
Al 20,000
02 MBI 2HHSFHS(HAANS, XLHE) 20,000 0 20,000
OZANEHOY NBHES X
20,000,000& x14 20,000
Al 20,000
307 212t01™ 45,431 43,349 2,082
Al 45,431
10 MEISXAEHE2EHIEX 45,431 43,349 2,082
OO HFAIE 2 FIHAIA (2HL)
45,431,000& 1 45,431
Al 45,431
ZOHQ! HFAIE JISEH 33,390 22,120 11,270
= 16,695
Al 16,695
402 SI2ERH=201 S 33,390 22,120 11,270




SA: B=EY
Mz mofel =X SA
chelr ZoHe! Xre|br 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,695
Al 16,695
02 QI X2 AL EE(0IETHE) 33,390 22,120 11,270
OO HFAIE JISES
33,390, 000& x 1= 33,390
= 16,695
Al 16,695
0 NISAMATHEAE 2 1,687,043 1,560,063 126,980
Al 1,687,043
307 @12t0| & 1,687,043 1,560,063 126,980
Al 1,687,043
10 Al2ISTIAIEEE 22X 1,687,043 1,560,063 126,980
OFpRIFAES AL (2124H], 28H]) 2
1,391,069,000& 1 1,391,069
Al 1,391,069
O==0SAHE (1], 22H) 2
295,974,000 x 1 295,974
Al 295,974
el HIBSHFAE 2EXE 817,690 765,840 51,850
Al 817,690
307 @I2t0| & 817,690 765,840 51,850
Al 817,690
10 AlRISTIAIEEE 22X 817,690 765,840 51,850
OTNABSHEIIT (2FHI, 21210 2
817,690,000& »1& 817,690
Al 817,690
Z0HQ THEXIZ ALY 98,392 95,130 3,262
Al 98,392
307 @120l & 98,392 95,130 3,262
Al 98,392
10 Al SXAAIEEHE2EHI2x 98,392 95,130 3,262
OMIHH I SXISAHEIE (28I, 1248 )
2 (1) 98,392,000 * 1 98,392
Al 98,392
IR HTHEANE 2 1,490,952 1,281,613 209,339
Al 1,490,952
307 212+01& 1,490,952 1,281,613 209,339
Al 1,490,952
10 Al SAAEEHE 22X 1,490,952 1,281,613 209,339
OTOHAMATHEAIL (2EH], 21 4H]) 2
1,490,952,000_4*1‘—5 1,490,952
Al 1,490,952
ZIOHQ! Argdg N2HH 2 Xd 188,330 180,533 7,797
= 64,332
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SA: B=EY
. ZOje =X S8
2l MOl et =4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 123,998
307 gl2tol & 188,330 180,533 7,797
= 64,332
Al 123,998
10 Al SXA2EE 22X 188,330 180,533 7,797
OB0e TRE NHUE (S 21218)
g X 188,330,000 1 188,330
= 64,332
Al 123,998
ol el XA 185,400 185,400 0
Al 185,400
307 212+01& 185,400 185,400 0
Al 185,400
10 MEISXAAEHE2EHIE2X 185,400 185,400 0
OmONe! MR MEFAT Y
185,400,000 1 185,400
Al 185,400
LEHML SXXE AL 142,500 142,500 0
Al 142,500
307 glztol & 142,500 142,500 0
Al 142,500
10 Al SXAZEE 22X 142,500 142,500 0
OXIEE Ol X2 XIRHIE (22, 01211)
A& 142,500,000 * 1 142,500
Al 142,500
gadoe! AEX 70,000 70,000 0
Al 49,000
- 21,000
307 212+01& 70,000 70,000 0
Al 49,000
T 21,000
10 Al2ISXIAIEEE 22X 70,000 70,000 0
OLEME KB (25, DS, 01IHMEIA)X
a 70,000,000 x1 70,000
Al 49,000
- 21,000
LEHY F2HESAUIA XA 594,571 806, 165 A211,594
= 416,200
Al 178,371
307 212+01& 534,571 806,165 A211,594
= 416,200
Al 178,371
10 AlRISTIAIEEE 22X 504,571 806, 165 A211,594




SA: B=EY
. ZOje =X S8
EHPlr Hope! reoiet &4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OYL I F22SABIA XEAI
594,571,000& »1& 594,571
= 416,200
Al 178,371
gsd agstited Wizl A 10,000 5,000 5,000
307 @12t0| & 10,000 5,000 5,000
11 ARRIS XA E X 10,000 5,000 5,000
ogsd e stefetited nsiis X
10,000,000& *1 10,000
IO SAIER0] XIE AL 5,000 5,000 0
307 glztol & 5,000 5,000
11 AMEISXAEEXS 5,000 5,000
O2stAH SAI=201 N2 A
2,500,000 *23] 5,000
ZOH! THEXIRHH 29 85,300 81,784 3,516
307 @120l & 85,300 81,784 3,516
05 git?(& = 85,300 81,784 3,516
OZOHAITHE XA MES (2SI, 1 AH]) X2
85,300,000 *1 85,300
ZONQ A, SXAIE 22X 23,000 23,000 0
307 elztol & 23,000 23,000
11 AMEISXAEEE 23,000 23,000
O IIEuFEZ2 08 X2 A
5,000,000 * 174 2= 5,000
OIS & 2L A
18,000,000 * 1 18,000
OISELE2SSAY 20,000 20,000
307 212+01& 20,000 20,000
05 2ItRIE = 20,000 20,000
O0ISLEISAE =X
20,000,000& *1 20,000
SOHRIADHE XIRAMS 2,000 2,000 0
307 elztol & 2,000 2,000
11 AMEISXAIEEXS 2,000 2,000
OFOH 1ADHS XIZAIS (H2AAIE Z2LIE
AR =) 50,0003 *402]x1H 2,000
KM ZER HASEI|=XJAME 29 80,000 75,080 4,920
Al 33,000
- 47,000
307 212+01& 80,000 75,080 4,920
Al 33,000
T 47,000
10 Al SXAIEEHE2EHI2x 80,000 75,080 4,920
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SA: B=EY
. ZOje =X S8
chelr ZoHe! Xre|br 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXMZONE! BOIZZIISXIAME (22,
eIAH) XA 80,000,000& 1= 80,000
Al 33,000
- 47,000
a2 SS0ISAE SZAZ £€X K& 10,000 10,000 0
Al 10,000
401 Al HIZ 01| 10,000 10,000 0
Al 10,000
01 Al&HI 10,000 10,000 0
Ox72 SSO0IZAE M2 &R NA(F
DIZH0I04F PEOIE)
1,000,000 * 1074 10,000
Al 10,000
O ASIHEANE JISE2LAE 22,000 46,120 A24,120
= 11,000
Al 11,000
402 BIZtAH=01A 22,000 46,120 N24120
= 11,000
Al 11,000
02 QI X2 AL E (01X THE) 22,000 46,120 N24,120
OFMRINATIZAIL TS 2
22,000,000& * 1= 22,000
= 11,000
Al 11,000
ARISRIAIE =2 A X2 3,000 3,000 0
Al 3,000
307 el2tol & 3,000 3,000 0
Al 3,000
11 AMEISXAEEES 3,000 3,000 0
OARISTIAIE dElt EHRAH & S
RS 3,000,000 1= 3,000
Al 3,000
A dASH 200,000 195,000 5,000
= 180,000
Al 20,000
301 EtE NS 200,000 195,000 5,000
= 180,000
Al 20,000
01 Al EE A2 (2RNEXMR) 200,000 195,000 5,000
OANEsa At dAHSH
200,000,000 *1 200,000
= 180,000
Al 20,000
ZoHe 128t WAxt XIRAALE 8,000 8,000 0
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SA: B=EY
. ZOje =X S8
chelr ZoHe! Xre|br 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 8,000 8,000
11 AMEISXAEEES 8,000 8,000
OFO0pQl oI2sr LA XA (F2F
Glollat REE) 8,000,000& 1= 8,000
ZGUHl ZOQFUESAIE 224 JIE XA 16,600 16,600 0
Al 15,600
301 LEtE NS 15,600 15,600 0
Al 15,600
03 A 2E AT S (XILTHH) 15,600 0 15,600
O HHQIFAZSAIL B2 |
A& 10,0003 x102 156 15,600
Al 16,600
ZOHIHESAlE A} Ma=ZAL 47,842 0 47,842
Al 23,921
- 23,921
307 elztol & 47,842 0 47,842
Al 23,921
T 23,921
11 AMEISXAEEXS 47,842 0 47,842
OFOR! HMOANS HEZM
47,842,0003x14 47,842
Al 23,921
- 23,921
HY2AIH(H=F20) 307,187 287,550 19,637
= 50,814
Al 25,407
- 230,966
plHA2HH|(#=F 20 218,203 203,586 14,617
= 50,814
Al 25,407
- 141,982
k] 92,621 84,286 8,335
101 21AH| 92,621 84,286 8,335
01 2= 92,621 84,286 8,335
OAZZ22+E 92,621
O6= 12,3213 x3BA 28+ 123 41,39
Oors 11, 1302 +30A1 26+ 123 23,373
O8=z 9,902 +35A| 2Hx5EH <123 20,984
O%= 9, 1602 x35AI 2Hx 1123 3,848
OX<IH&HI 75,410,000 *4% 3,017
SSAHHIZ2IAL LAH(SRA HEX) 125,582 119,300 6,282
= 50,814
Al 25,407
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SA: B=EmY
Hr: sESoAY| (H=EM )
Chol: clEeoy| (=T M) (cHol: 22)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
- 49,361
101 2124 109,290 110,859 21,569
= 43,155
Al 21,577
- 44,558
03 SR (RIHL) 22X 109,290 110,859 A1,569
OSEAtZCIAL QIAH(SRE MEHAL) 89,190
Ol 2,125,000& 3B+ 122 76,500
= 38,250
Al 19,125
- 19,125
OAlIZtel=¢ 152, 5002 x3%H » 123 5,490
= 2,745
Al 1,372
- 1,373
O=&t| 200,000 *x38 123 7,200
= 2,160
Al 1,080
- 3,960
OSE At Z2IAL S2lZ= M| 20,100
O E SOt 1,400,000 *3Z *23 8,400
OusEZH| 1,440,000 3% 14 4,320
OXZB=< 600,000 *3H 1 1,800
(OFS PP e = 180,000&*3Z 14 540
o224l 1,680,000 x3Z 1 5,040
M HAIREIS 16,292 8,441 7,851
= 7,659
Al 3,830
- 4,803
M SRHE(RINHS) 22X 28282 S 16,292 0 16,292
O4HEE MEBX 2Y 2 3,450
o=ed3 3,450,000 =14 3,450
= 1,725
Al 863
- 862
O4UEE MBARES 3,388
O 3,018,000 =14 3,018
= 1,509
Al 74
- 755
OLoE LTS 370,000 14 370
= 185
Al a3
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